THOFEOAIAREDRZALBEREN

(B N)
INEZERX i 5 8 5 L2 8 it
Mo 5, 283 5,615 10, 898
= B 2,657 2,799 5, 456
I E 2,005 2,075 4,080
B#HFHBEFE2X
m s 1,571 1,644 3,215
F A 3, 650 3, 841 7, 491
5 iR 2,493 2,633 5,126 17, 659 18, 607 36, 266
hZg 4,577 4,712 9,289
B#HFRHBEFE4RX
Ww R 6, 961 71,124 14, 085 11, 538 11, 836 23,374
£ M 76, 713 80, 978 157, 691
BFHHBEESX WEE 364 361 125
A 1,666 1,799 3, 465 78, 743 83, 138 161, 881
& 107, 940 113, 581 221, 521 107, 940 113, 581 221, 521
FISFAIHIREDHENEZAREEZHZREH
(B - N)
IEZERX #ho s g8 8 B 3B % Hi
B 2 3 5
= B 3 2 5
N EH 3 5 8
BFHREE 2 X
m s 0 2 2
F A 2 2 4
5 & 0 0 0 10 14 24
h2E 3 1 4
BFHREE4X
m B 4 5 9 Ji 6 13
£ M 31 56 93
B#HFHBEESX W& 0 0
I a 0 0 0 37 56 93
a 54 76 130 54 76 130




